Ehelt M=, E, %, $/kg

e e 23 7 SHE(EE) '23d 18 ~ 78l SHe(FA) | FEHIHEY) | FEEIHFA) | SIHESHE)
= 2H =& = 2H ety =g =& SO [ =2k (2272|2378 | 22.1~72| 23 1~7¢| =& | FAH

A 868,408 170,050] -15.4 | -11.2 6,486,391 1,275,572 | -13.5| -11.0| 5.36 | 5.11 5.23 509 | -4.7| -2.7

1 |HEY 158,545 16,245) -24.9 | -27.3 1,291,747 126,757 | —-15.5| —22.4| 9.45| 9.76 9.36 | 10.19 3.3 8.9
2 |== 126,481 11,214 -3.1| -13.1 836,479 80,565 -52| -9.0| 10.12| 11.28 9.96 | 10.38| 115 4.2
3 (ol 117,555 23,514] -14.3 7.0 838,827 167,999 | -19.2| -12.2| 6.24| 5.00 5.42 499 | -19.9| -7.9
4 (g 47,356 9,067] -8.1 3.0 354,413 64,746 -8.7 3.7| 5.86| 5.22 6.22 5.47 | -10.8 | -11.9
5 |9l U|Alot 44,927 6,226] -35.6 | —32.2 386,734 51,900 | -25.3| -23.6| 7.60| 7.22 7.62 7.45| -5.0| -2.2
6 |FI=7|o 27,015 8,760] —28.8 | —29.5 235,420 78,257 | -18.0| -18.1 3.05| 3.08 3.01 3.01 1.0 0.1
7 |22 20,912 789 9.2 -31.4 151,684 6,518 | -15.4| -38.3| 16.67 | 26.52 | 16.98 | 23.27 | 59.1| 371
8 |el=(elc|o}) 17,612 10,170] -8.5 9.3 128,468 75,500 | -12.4 9.4 2.07| 1.73 2.12 1.70 | -16.3 | -19.9
9 |otEHolo|z|E 915t 16,267 2,022] -3.5| —-40.6 109,895 13,829 19.3| -19.0| 4.95| 8.04 5.40 795| 62.6| 47.2
10 |o|Er2|o} 16,223 4,193] -16.5| -31.2 124,661 40,296 -72| -09| 3.19| 3.87 3.30 3.09| 21.4| -6.3
11 |Z=A 14,193 1,869] 58.2| 36.5 77,183 12,714 15.2| 29.9| 6.55| 7.59 6.84 6.07| 15.9| -11.3
12 |=¢ 13,808 4,249 -24.7 | -27.6 88,320 30,744 | -236| -13.5| 3.12| 3.25 3.25 2.87 40| -11.7
13 |22 ol Ao} 12,592 6,676 9.6 11.2 71,243 36,784 | -23.7| -25.5| 1.91 1.89 1.89 1.94| -1.4 2.4
14 |HAlZ 11,800 3,302] -14.5 2.1 79,568 20,318 | -11.3| -57| 4.26| 3.57 416 3.92|-16.2| -6.0
15 |2{Alo} 11,450 1,984] -10.1 | -25.0 66,771 12,711 18| -08| 4.82| 5.77 5.12 525| 19.8 2.6
16 |AbClotzid|of 10,943 1,600 9.6 1.0 82,424 11,810 32.3| 20.6| 6.30| 6.84 6.36 6.98 8.5 9.7
17 |EN= 10,566 3,147) -21.7 | -22.3 85,084 24,512 -9.0| -9.9| 3.33| 3.36 3.44 3.47 0.8 1.0
18 |HelH® 10,230 3,401 -29.4| -34.2 96,514 27,225 | -10.5| -17.2| 2.81 3.01 3.28 3.55 7.2 8.1
19 |CHet 10,108 1,663] -0.2| -18.8 81,026 12,797 -53| -19.9| 4.95| 6.08 5.35 6.33| 229| 18.2
20 |(ZHEC|ot 9,982 2,006] -13.4| -11.8 74,149 16,702 | -17.2| -0.6| 5.07| 4.98 5.33 444 -19|-16.7




(Ar] 2071 =)

Ehelt M=, E, %, $/kg

o e ‘23 7€ ZHE(EH) '23d 18 ~ 7¢ Tes(FA) | TLe7HEE) | FLCIHFA) | SIHEHE)
= 2H =& = 2H ety =g =& SO [ =2k (2272|2378 | 22.1~72| 23 1~7¢| =& | FAH

A 1,563,579 182,785 -7.0| -3.2 10,520,670 | 1,293,070 | -4.1| -0.9| 8.90| 8.55 8.40 8.14| -39 -3.2

S 603,807 104,862 8.6 6.4 4,081,348 726,452 -3.2 58| 6.71 5.76 6.14 562 | -14.1| -8.5
2 |HIEY 361,453 38,653 -14.5| -12.0 2,462,798 284,924 -70| -29| 9.63| 9.35 9.02 864 | —29| -41
3 |o|Etz|o} 118,618 1,281 6.9 -18.6 737,208 8,579 10.7 39| 7051 | 9262 | 80.64 | 8594| 31.4 6.6
4 [l U Alo} 60,315 6,174 -10.4 | -15.8 395,337 45141 | -10.1| -9.2| 9.18]| 9.77 8.85 8.76 6.5 -1.0
5 |gr=2HEAl 42,804 2,143 21| -10.8 327,217 17,196 -1.9| -8.4| 17.46| 19.97| 17.75| 19.03| 14.4 7.2
6 |olQkot 41,534 2,164] 276 354 224,341 10,852 2.6 76| 2037 | 19.19| 21.68| 2067 | -58| -4.6
7 |d= 41,161 4,865 -0.4| —14.1 304,664 38,366 72| -12.8| 7.29| 8.46 7.47 7.94| 16.0 6.4
8 |2l=(elc|o}) 27,184 5,571] -19.9 4.2 202,719 37,348 | -31.2| -23.9| 6.35| 4.88 6.00 5.43 | -23.1| -9.6
9 |[ol= 24,546 1,694] —23.0| -48.7 199,906 15,421 -1.4| -189| 966 | 14.49| 1066| 12.96| 50.1| 21.6
10 |Z&C|o} 19,309 501 1.3 -7.2 140,438 3,345 25.1| 13.1| 35.31| 38.55| 37.94| 41.98 9.2 10.7
11 |Z2A 17,684 412] -0.0| -29.0 114,214 3,150 7.7| 28.0| 30.47 | 42.93| 43.09| 36.26| 40.9| -15.9
12 |z282Z 17,482 117] 22.8| 35.9 129,517 792 10.1 3.4 [165.65 [149.67 | 153.54 | 163.54 | -9.6 6.5
13 |Ef=F 16,545 1,762 9.7| -10.8 110,497 13,427 | -18.5| -21.9| 7.64| 9.39 7.89 8.23 | 23.0 4.3
14 |F0t o} 15,184 371 39.6 9.3 85,092 246 | -11.7 | -58.9 (322.16 |411.34 | 161.12 | 345.74 | 27.7| 114.6
15 |Ze[H® 13,735 1,126] -13.1| -11.5 105,393 9,444 -3.0| 15.3| 12.42| 1220 | 1326| 11.16| -1.8| -15.8
16 |FI27]0 13,534 491l -3.5| 31.1 103,884 3,175 1.6 1.3| 37.49 | 2759 | 3262 | 32.72| -26.4 0.3
17 |Zralo|Alo} 12,491 4,175) -28.4 | -38.9 78,603 30,462 | -26.8 | -20.1| 2.56| 2.99 2.82 258 | 17.1| -8.4
18 |g= 10,109 2551 11.8| 44.7 61,282 2,072 -26| 275 51.27| 39.63| 38.73| 29.57| -22.7| —-23.6
19 |=5¢ 9,942 474y -7.9| -27.4 82,427 4,609 28| -2.8| 16.55| 20.99 | 16.91 17.88 | 26.9 5.8
20 |TF|AE 9,104 1,590 -42.8 | 21.1 61,366 8,616 | -18.3| -9.0| 12.11 5.72 7.93 712 | -52.7 | =101




